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Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 63/0SS/1, Set— on the Answer-Book.
(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.
(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the question will be yours only.
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Note : (1)
(i)
(iii)

ot )
(ii)
(iii)

All questions are compulsory.
Marks allotted to each question are indicated against it.

Each question from Question Nos. 1 to 10 has four alternatives - (A), (B),
(C) and (D), out of which one is the most appropriate. Select the correct
answer among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting multiple
choice questions.

af vl & IO AR |

Td% W9 o GMY IHP o fag T ¥ |

YT W& 1 ¥ 10 9% & Y% 99T H IR fased — (A), (B), (C) du1 (D)
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arfaier w9g w&l fear s |

1 Production possibility curve is a ............... . 1

(A) Concave curve (B) Convex curve

(C) Negatively sloped straight line (D) Positively sloped straight line

(A) 3rEdd I BT § (B) I« @b BT

(C) =A% @ ardl diel ¥ar & (D) 99TcH% oo™ Tl el @m ®

2 A firm is not a price taker under : 1
(A) Monopoly (B) Monopolistic competition
(C) Oligopoly (D) All the above
Th HH HIAT-TIBID TEl T oo
(A) TSR & STid (B) UsI¥ehiicds Wio™ifar & eraiid
(C) ST & ST=Iid (D) Swied Wl & rd
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3 Supply curve of goods shifts when : 1
(A) Price of the goods falls (B) Price of the goods raises

(C) Income of the seller changes (D) Tax rate changes

(A) a& B HEA T T (B) a&] @ HWd Fodl ©
(C) foshar &1 oM Sgeal & (D) *X P I FI&A @
4  Marginal utility means : 1

(A) Utility from the first unit
(B) Utility from the last unit
(C) Difference between utility from the last unit and utility from first unit

(D) Total utility divided by number of units consumed.
G SUAIRT &1 31 2

(A) UEHl @R § U SUAIRTET

(B) @ s@s & g IuAIfTr

(C) otf<a9 3@1E o U=l 3@ & U<l SUAINTAT &l 37X
(D) P IYANRC + ITART B T IHEAl

5  The expenditure that creates an asset is called .............. . 1
(A) Capital expenditure (B) Budgetary expenditure
(C) Plan expenditure (D) Revenue expenditure
e =gg | ufemata &1 fEw S &, 39 |
(A) Toira =g ®ed ¥ (B) oo =99 wed &
(C) T =T wed & (D) T = BEd ©
6  Value of investment multiplier depends upon : 1

(A) Average propensity to consume (B) Average propensity to save

(C) Marginal propensity to save (D) None of the above
fragr o @1 g iR e ® -

(A) offEd SUa 9gia o (B) s s=a yafa «
(C) dmMra sad ygfa o (D) Sy § far o @
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7 Who creates credit ? 1

(A) Central Bank (B) Commercial Bank
(C) Government (D) All the above
UG BT Yo BT BT & 7
(A) w= ¥h (B) arftifvaes S
(C) w@KR (D) Sy gl
8  Which of the following is called national income ? 1

(A) Net National Product at factor cost
(B) Net National Product at market price
(C) Net Domestic Product at factor cost
(D) Net Domestic Product at market price

frfafea & & o T o wed © 7
(A) e @rd R e T8 SaR
(B) ™R qed WX et T IR
(C) «rEd &N X Mad o8 3dE
(D) SR @@ WX Fa@ o Idr

9  Which of the following is a stock ? 1
(A) Wealth (B) Population
(C) Money supply (D) All the above
frrfaied & & &9 @1 ®ied & ?
(A) TR (B) wE®@mn
(C) g1 3myfd (D) SUTeRT Al
10 Range is the . 1

(A) largest value of a distribution

(B) Smallest value of a distribution

(C) Sum of largest and smallest values of a distribution

(D) Difference between largest and smallest values of a distribution

fore wh SO BT . |

(A) |9 <91 9

(B) US® BRI & 8

(C) 999 §3 3R ¥9d BIE T &1 AT
(D) T8 93 &R 999 B & & =X
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11 Explain any two functions of Central Bank. 3

HET S b hel T BT Bl AT BT |

12 Explain the problem of ‘what to produce’. 3
FIT AT B Bl THET B AT BT |

13  Explain any two factors that cause a shift in demand curve. 3

U fh=l T Bl &l aren Hivie 99 917 o Ragadl 3 |

14 Explain “number of firms™ as the basis of distinguishing different market 3
forms.

fafir=1 vy % IO w91 & oMU & WY H CHAT @ e’ fagwar a9y |

15 Explain “lack of common unit of measurement” as demerit of barter 3
system with the help of an example.

TEEIdT § IUN BNy |

16 Explain the effect of excess supply of a commodity on its equilibrium price. 3

T a5 DI I SAMUFRT BT IqDb! AT DA X THE DI AT DT |

17 Give the meanings of average propensity to consume and marginal propensity 3
to consume.

3fEd IUHN Ugia 8 HM SUHRT ygra & o Iaisy |

18 State any three uses of index numbers. 3
qasiel & B3 A ITART FARY |

19 Explain the meaning of “mixed income of self employed™” with the help of 3
an example.

“g-Frafaa el @ iy sma @1 1Y U IR @ gERdr 9 99HE’ |

20 Give the meanings of micro economics and macro economics. 3

=fte srefome ofik Tufte ardfome & o1 SaEy |

63/0SS/1-318-A | 5 % [ Contd...



21 Distinguish between the following :
(a) Revenue receipts and capital receipts

(b) Direct tax and indirect tax
frrefaied & A8 @iy ¢

(a) T witaEl SR SinTa it
(b) v BT R AT B

22 Calculate arithmetic mean from the following data.

fr=feRaa otirs! & SIGTTR 91T &7 Ufead BN |

Marks / si® 0-20 | 20-40 | 40-60 | 60-80

Number of students / feenfeiay @ g 12 14 16 8

23  Explain the concepts of (a) closed economy and (b) investment.

(a) 95 srfegaren &R (b) FEY & er@amend g9y |

24 Explain two causes of a rightward shift of supply curve.

g a6 % I AR Rawa % A BN @ AT BT |

25 Explain the law of diminishing marginal utility.

TEIE GHT ST &1 a9 9933y |

26 Complete the following table :

Preafifiae At & g0 HR
Output Total Cost Average Variable Marginal
(Units) (Rs.) Cost (Rs.) Cost (Rs.)

SR (3HEA) | FA 9P (5.) | ofa uiEdt e (8.) | A 9 (S.)
0 40
| 20 | e
2 e | T
3 | - 6 | -
4 | - 6 | -
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27 Calculate Net National Product at factor cost. 6

(Rs. in crores)

(1) Remuneration of eMpPlOYEES .....ccccvveeriiiieiiiiiiiieciieeeeeeee e 5,000
(1i1)) Mixed income of self employed.........ccoeeviieiiiiiiiiiiniiiieiieeieeee, 8,000
(1) RENT eeiiiiiieeeeeeee ettt e e et e e e e e e e eeanaaee s 500
(IV)  PTOTIE et e e e e 1,000
(v)  Consumption of fixed capital ........ccccoeeeviiiieeiiiieiiieiieeeeeeeeeeee 200
(Vi) Net INAIFECt tAXES .oveeeeiuirieeeeeiiiieeeeeiieeeeeeetee e e e e e e e eeiare e e e earreeeeenaaaneeas 700
(vii) Net factor income to abroad..........cccceeeecuiiiiiieiiiiie e 40
(VII1) BONUS oeiieiieee ettt e e e taae e e e enareeeeenes 60
(ix) Employees’ contribution to social SeCUrity ........cccceevueerriiierriiieennneens 100
(00 I 8110 (L] USSR 800

I TG T ad TR ST BT Ihad Hitd |

( M )
(i) w@-FARTal & BRI ST o 8,000
(1) TR oo 500
(IV) TTH ettt e e e e ettt e e e e e e e e e et ettt e e e e e e e e e eabbbbrnnes 1,000
(v) Rz dair T 200

.

(Vi) T STHRIET B .uviiniiiiiiieeieeeeeeeee et 700
(ix) HHEE! BT AHAITD GRET H ARTEIT .ot 100
(X) BTOT ettt e ettt e e e e e e e e ettt e e e e e e e et ettt e e s 800

28 Define price elasticity of demand. At a price of Rs. 10 per unit the demand 6
of a commodity is 500 units. When its price falls by 10 per cent its quantity
demanded rises by 60 units. Calculate its price elasticity of demand.

AT %] HAA A Dl Tt AT |10 3. 9T 3@ SHFd 9% Th axg Bl AT 500
TIPS ¢ | 9 3T HFd 10 FG9 &Y 8 S & af 39! JET 960 60 IH1s 9 Sl
T | 3D AT B AT BT GHAT DINTT |
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29 Explain fiscal measures to control the situation of excess demand in an 6

cconomy.
e el # AN o @l Rufq @ guRT % AU TSN Sl &
TR DT |

30 From the following data calculate Laspeyre’s price index number. 6
frrefaRad el & TRUTX & DA YAbih B UHAT DIy |
Commodity Price Quantity
B | Base Year | Current Year |Base Year | Current Year
R Y g YR 9 g

P 4 8 16 20

Q 8 10 24 28

R 12 4 40 16

S 16 12 44 24
31 Describe three phases of the law of variable proportions. 6

giadl oTuTal & FEm @ dF srawensti &1 i @iy |

32 From the following data calculate coefficient of correlation between X and 6
Y by direct method.

frrefafaa siids! & ywe fafy gra X iR Y & 9 deday urie &1 qiead Hivg |

X|[6]5
Y5463
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